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Chapter 10 — Electron Configuaration Worksheet

1. A very bright line in the bright-line spectrum of sodium has a wavelength of )
5.90E-7 m. What is the frequency of this line? Equat';ﬂS:
C = AV
Zoxi08 e = B BMETm . V E = hy
c=300E8m/s

_ i h=6.626 E-34 [*s
l U= 5,085 x10' Vsj

2. When an electron in an atom falls from the fifth to the second energy level, 4.58 E-19 } of energy are
released. What is the frequency of the electromagnetic radiation that is emitted?

Hcge-1q) = LLabE-d4 Js - N

J = Latle x\DH ‘/ST

3. When an electron in a hydrogen atom falls from the fourth to the first energy level, 2.04 E-18 ] of energy
are released. What is the frequency of the corresponding electromagnetic radiation? What is its

wavelength? soteAdAsd = bowel ¢-3H RS .V
y=3.011 410" l/s\

s !
a0 x 108 Ms = A 3002 7 /s

A= A1 ¢ 8 m \
4. Order the following regions of the electromagnetic spectrum accor ®rgy per proton, from

lowest energy to highest: X rays, infrared, ultraviolet, visible red, visible green,fricrewaves.
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5. List all the orbitals available for the hydrogen atom whenn = 3.
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6. Write the complete electron configuration and draw the orbital diagram for the following elements:

(a) Arsenic (As]
162262 2p°357 3p* 4s? 24" Hp?

{b) Krypton {Kr)
o
| 32 z—(,? LPL 332 SFL \I'BZ Sdlo *‘P
(c) Bromine lon (Br) — %,a:\mc‘ an eledhron
ig? ZQZZP" 35?‘ 5PS- qs’- 410 q,?b
(d) Calciumiion (Ca2*) ——> to§t +two elechmns
8. Name the elements that correspond to each of the following electron configurations.

(a) 1s22s22p! 3 sy

(b) 12252208323p84s23d  \( Adnadinam

(c) 1s72522ph3s Maa(ne 61w

9. Write the abbreviated electron configuration for the following elements. YOU DO NOT NEED TO DRAW
THEM.

(a) Arsenic (As) (c) Carbon (C)
v 2
(AT dem2d 4 (Hedzemep
(b) Antimony (Sb) (d) Zinc (Zn)
Led Gz vdie 52 LAc) 4™ 34"

10. Where are there anamolies in electron configurations on the periodic table? Why does this happen? _
Ahu'v\-o\-\ﬁs oL hehween e S wed SCl ol & be cortgy,
trey art very st in energy. flso, OLLUXE in f-blodk
aftms  aC wetl.



